Ersatzteilliste

EIBENSTOCK

Elektrowerkzeuge

[
9]
=
©
<
)
o
=
o
>
c
)
>
c
>
2
()
©
c
<L

/e

5
Y

EPF 1503

4




06511000 Version: 01
EPF 1503 - 23OV Dated:  19.12.2022

Pos. Description ltem No. pc. Pos. Description ltem No. pc.
1 Cap 80900093 1 43 Connecting cable 2x1mm? 5m 80600245 1
2 Screw 4,8x45 80201267 4 44 Screw 4,2x13 80201270 2
3 Rotor, compl. 230V 75513100 1 45 Wire locking flange 85000020 1
4 Grooved ball bearing 608 27 80410011 1 46 Switch 80600143 1
5 Retaining ring 28x1,2 80201333 1 47 Grooved pin 4x12 80200582 1
6 Brush cover holder, compl. 80201195 2 48 Capacitor 80500010 1
7 Carbon brush 6,3x12,5x18 80700034 2 49 Screw 4,8x22 80201280 4
8 Spring washer 4 80201385 4 50 Screw 4,2x16 80201271 2
9 Screw M4x12 80201180 4 51 Interconnecting wire 7152B184 1

10 Fibre washer 7x12x1 82000951 1 52 Foam filler 80600306 1
11 Retaining ring 9x1 80201308 1 53 Suction hood 76516570 1
12 O-ring 22x2,5 83000036 1 54 O-ring 35x4 83000047 1
13 Screw 5x35 80201456 4 55 Depth stop 76516580 1
14 Grooved ball bearing 6001 2RS 80410032 1 56 Wing nut M6 80201389 3
15 End shield of gearing 76301610 1 57 Screw M5x12 80201202 3
16 Gearbox housing 76516400 1 58 Spring lock washer 5 80201302 3
17 Magnetic ring 19,4x7x6 80701005 1 59 Brush strip 76516577 1
18 Worm seal 1 75513125 1 60 Brush strip support 76516576 1
19 Screw 2,9x13 80201252 2 61 O-ring 157x4 83000170 1
20 O-ring 28x1,5 83000191 1 62 Suction hood, compl. 7651157U 1
21 Grooved ball bearing 6003 2RS 80410047 1
22 Work spindle 76510420 1
23 Retaining ring 40x1,75 80201339 1
24 Sleeve 76305425 1
25 Spindle wheel 75510432 1
26 Worm seal 2 76301126 1
27 Retaining ring 14x1 80201318 1
28 O-ring 85x1,78 83000000 1
29 Needle sleeve HK0810 80420110 1
30 Screw M10x20 80201146 1
31 Washer 10,5 80201380 1
32 Printed circuit board 230V 80601510 1
33 Motor housing 80900092 1
34 Stator, compl. 230V 7132B150 1
35 Screw 3,9x60 80201266 2
36 Air guiding ring 80900286 1
37 Bow handle 80200076 1
39 Spanner SW 6 80430043 1
41 Pair of handle halves 80900097 1
42 Cable grommet 83000004 1

List also valid for: 0651IDIA Version: 01

page 1 of 1



